A Algebra: Solving equations with brackets
Solve these equations: '

1 3(x+4)=—21 2 5(x-2)=25 3 2+ 1)=4
4 A—x+1)=14 5 3(-x-2)=6 6 A(-x+2)=12
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B Algebra: Solving equations by removing more than two numbers

Solve these equations:
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4 2x+1+5=8 5 5x2—1_4=_12 6 4x3+1_8=_1- \ /
_ ' _ |
- 2(x+1)__1=_2 g 3(x 1)_11=2 9 6x—=1. 43 |
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10 X3 i1=a 1 Zgi‘g““i)+1=3 12 f"ﬁ%ﬂ+1=—7 /
|
C Indices: Multiplying index expressions ,’
1 a*xa 2 b xb? 5
3 axa*xa’ 4 2ax5d>
5 6a%x3a 6 9a°x%x4a
7 16a* X 2ab 8 3a%bxb
9 —5a%2x%x3ab 10 2a’x-4axa
11 743 x2a%b 12 3a2b X 2ab?
13 — 942 X 3a X 2a? 14 64% X —2a X 3a?
15 —7axa® % 2ab? 16 9abXx 2:x-3a%
-~ 17 3a%x-54%° 18 -5 x2a%bh X 3ab
19 —942x3a*%x2a 20 1944 X 3a X 4a°
D Indices: Simplifying fraction expresslons
312 213 2 2
1 a:) xg 24a4b xg_aT 35ab ic_z_
a’b b a b 2ab b
2 314 2 ' 21 .
4 6abx_2_a_ 5 Ta’b x6ab 6 _q_l_)_+_2£
3ab b 5¢b  2b ab® b
. 542p*  3ab* 6a*h 3b 3a’h  3a
- 8 -+ — 9 —+—
2ab 2a S5a 2a S 2_(:2 2¢c
2 2 2 2
10 5a2c+3ac 1 3al2zc +2£ 12 4ab+_2_b_A
2c 5¢ a‘b 3b 3ab®  5¢*
E Indices: Zero Index
Evaluate:
1 5° 2 64° 3 40
4 (2a)° 5 3a%+1 : 6 9a+7a°
7 2a+b° 8 6axcl ' 9 (3a%b?%)°
10 (4a°)? 11 (6a%%)3 12 922 +¢°
13 50420 14 3% +2a 15 7% -2b
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18a° 6 36a* 7
-154°0 10 -8a* 11
5445 14 -364° 15
~15a*p® 18 -30a'b* 19
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1 26 - 3
4 6 9a+7 7
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2 4 3 15
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a’ 4 104
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14a’b 12 6a°h*
~14a°h* 16 -5443p>
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